Mathematics
Multiplication and division

Multiplying 3-digit numbers by
1-digit numbers.

Miss Thomas
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Question 1.

Use column multiplication to solve each of the word problems.

On Friday, 632 people visit Niagara Falls in the oz
morning. On Saturday morning, six times as —

many people visit. How many visited on

Saturday morning? :

Keyrings are delivered to the Niagara Falls
souvenir stand in packs of 4. The stand orders b

407 boxes. How many keyrings have they

ordered?

119

It costs £119 to hire a car for the day. Isabelle

hires a car for eight days. How much does she [ 1 [ ] |

pay? N
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Question T Answers

Use column multiplication to solve each of the word problems.

On Friday, 632 people visit Niagara Falls in the e
morning. On Saturday morning, six times as —= -

many people visit. How many visited on

Saturday morning? @

Keyrings are delivered to the Niagara Falls

souvenir stand in packs of 4. The stand orders

407 boxes. How many keyrings have they - m
ordered?

119

It costs £119 to hire a car for the day. Isabelle

hires a car for eight days. How much does she [ L1 1 |

pay? @
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Question 2

Use column multiplication to solve each of the word problems.

A flight to Canada costs £749. Sally, Dani and
Stephen fly together. What is the total cost of | | | |
8 o N 3

their trip?

315

An ice hockey player is paid £315. If they win,
they are paid seven times as much. How much is

the player paid when they win?

1

The Maid of the Mist boat carries six passengers il
in one trip. The boat does 713 trips in a day.
How many passengers does it carry in one day?

o
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Question 2 Answers

Use column multiplication to solve each of the word problems.

A flight to Canada costs £749. Sally, Dani and —t
Stephen fly together. What is the total cost of | | l |

their trip? ~

An ice hockey player is paid £315. If they win, r—

they are paid seven times as much. How much is

the player paid when they win? EE

The Maid of the Mist boat carries six passengers e

in one trip. The boat does 713 trips in a day.

N
N
N
(0 0)

How many passengers does it carry in one day?
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